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1 |PH fE|5.8 L1 £ 86 L TF| 64 6.4 65 6.6 6.6 6.6 65 6.6 6.6 6.5
2 i 1t B a4 A rl200mg/l KL TF| 34 30 3.3 30 2.7 2.8 3 3 2.7 2.7
3 |HE#® W% (TOC @ & HBmg/l LL | 025K | 02K | 02K | 02K | 0.2KH | 0.2KiM | 025K | 0.2 | 0.2KME | 02K
4 |— & b B [100CFU/ml EL T 0 0 0 0 0 0 0 0 2 0
5 [k B B ShanIe| BEH =4k =4k =4k [=4:3 [=4:3 =3 =3k 3 =33 =3
6 |82 [BETHWI L BRYL | BRYL | RRA4L | RERAL | RR4L | RR4L | RRAL | RR4L | RR24L | BR4AL
7 73 BETHVIL BHAL | BWAL | BwgL | Bl | Bukal | Bkl | Bwgl | Bl | Bkl | Bl
8 |& |5 B L T|0.5BESRE|0.5BE K| 0.5 | 0.5 5| 0.5 5k | 0.5 5k | 0.5 5Kk 5| 0.5 5K 5% | 0.5 K 5% | 0.5 BE KR i
9 | A& E2 E W F|01EERM|0.1ERM|0.1 R 0.1 R 0.1 ERM| 0.1 ERM|0.1BERM| 04 |0 1R 0.1ERE
10 (& ] [u] i3 E|0.02mg/I KL T 0.002K % 0.002K % 0.0023 i
"l 94 o o B E004mg LI T 0.0025% %
12 U 2 0 0 B E02mg/!l MW T 0.0025% %
1319 8 8 & I L0o6mg! B T 0.0015k %
14 |JBES 208 A2 20Img/l LBl T 0.0013k%
15 (70200 4% 2/003mg/ L F 0.001%%
16 |7 B EF & J  L009mg/!l L T 0.001%%
17 1 U /v B A 2 Doimg/!l BT 0.0015K#
18 |/ L L 7 I T E F|008mg/l LL T 0.0085%
19 |B ES B|001mg/l KL T 0.0015K%
20 (& ES B|o6mg/l KL T 0.12
21 |¥ 7 vl00tmg/l BL T 0.0015k %
22 (B /& & R’ %E[0002mg/I BL T
23 [YR-}5VA-1,2-°9A0IFLY[004mg/l KL T
24 | 4 B @ A A J002mg/!l ML T
25 |75 BRI FLU00Img BT
26 |kY BB IFLU00mg BT
27 |R > + vl00img/!l BL T
28 |8 K = 9 L[0003mg/l KL T
29 |7k $8|0.0005me/I LI T
30 |t [ vl00img/!l BL T
31 S 001mg/l KL T
32 |E *[001img/l BL T
33 KX i ¥ B L[005mgl K T
34 |7k 7 #[|10mg/l KL T
35 (& #ltomg/1 BL T .006
3 |7 I T = U Llo2mg/l KL F 0.025K 3%
37 &% 03mg/l KL T
38 Ei] 10mg/l LL T
9 [+ ~ U % Ll2oomg/ W F
40 | > il |005me/l KL T
41 B M OB & E F00mg W T
42 |HEEERREHBEZR0mg/1 L T
43 |7 D] *[08mg/1 BL T
44 (WYL 29y WEFEE)(300me/l KL T
45 | % K& B WY[500mg/l KL T
46 (B2 4 4+ > R @ % Kljo2mg/ KL T
47 |3E 4 A > R @ F % Fl|002mg/ KL T
48 [14- 2 F * 4 005mg/l B T
49 |7 = J — )L #E[0005mg/l KL T !
5 | = A4 R T 001 pggITF
51 |22 AFILAYRILIRF—IL001 1 g/l LT
52 |5% 2 bt * 0.4 05 05 0.8 0.3 05 0.3 0.3 0.1 0.1




